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Partial Sum of Arithmetic Sequences

Numeric Response

 1. Find the partial sum to term 29 for the following sequence:
–9, –5, –1, 3, ...

 2. Find the partial sum to term 20 for the following sequence:
–2, –4, –6, –8, ...

 3. Find the partial sum to term 27 for the following sequence:
–8, –16, –24, –32, ...

 4. Find the partial sum to term 28 for the following sequence:
9, 3, –3, –9, ...

 5. Find the partial sum to term 12 for the following sequence:
1, 10, 19, 28, ...

 6. Find the partial sum to term 18 for the following sequence:
–7, –3, 1, 5, ...

 7. Find the partial sum to term 14 for the following sequence:
8, 17, 26, 35, ...
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Partial Sum of Arithmetic Sequences
Answer Section

NUMERIC RESPONSE

 1. ANS: 1,624

PTS: 1
 2. ANS: –380

PTS: 1
 3. ANS: –2,808

PTS: 1
 4. ANS: –2,268

PTS: 1
 5. ANS: 594

PTS: 1
 6. ANS: 612

PTS: 1
 7. ANS: 819

PTS: 1
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